
Australian Pump Industries Pty Ltd  |  7 Gladstone Road, Castle Hill NSW 2154  |  P: 02 8865 3500 |  F: 02 9894 4240  |  www.aussiepumps.com.au 

   GMP/JAN2022/1 All prices EXCLUDE GST 

AUSSIE SPARES DIAGRAM & PARTS LIST 

AUSSIE GMP PUMPS:  

Part  
Number Qty Description List price 

6030 1 Flex. Gasket B 2587  $13 

6186 1 Flex. Washer 33 x 39 x 2 $5 

6353 1 Counterface  $135 

7674, 
7726 

8 Torque Nut M5 A2  $5 

9821 1 Extension Shaft  $506 

F084 4 Hex. Head Bolt M12x40  $6 

F135  1 Conical Tap ¼” Gas  $24 

F158  4 Stainless Steel Screw M12x25  $12 

F476  1 Nut M12x1.75  $15 

F555  1 Tap AISI 316 1”G  $123 

F710  1 Bronze Pump Casing  $5,138 

F713  1 Valve Body B3XR-A  $973 

F848 1 Stainless Steel Key B 6x6x20  $8 

H010 1 Check Valve complete  $143 

H397 1 Mech. Seal   $62 

H422 7 Screw OEB M10X30 $11 

 H798 1 Motor 4KW 400/690V.  Tba  

H848 2 Washer 12x26x2   $8 

L299 1 Motor support $720  

L307 1 Support  $1,165 

L240 1 Bronze Impeller (4KW) $941 

B3XR-A/B, 4KW  ELECTRIC MOTOR  
Cat: EALB 

REJUVENATION KIT  … SAVE ON BUYING INDIVIDUAL PARTS 

GREJK-B3XR-A/B 
(R616) 

Includes check valve, mech seal, 
counterface, gaskets (items 
highlighted yellow) 

$158 

6186 


